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62 ) |
(d) Find the radius and centre of the circle
r =3sin0+4cos0 -

(¢) Find the eccentricity and the vertex of the conic
6. g il
1-cos® _ ‘%!3}
® When the conic 5
ax2+2}uy+by2+2£x-+2ﬁ:+c=-0 represent a

o

r=

(14 x2) p,,p +(2nx+2x-1) y,,, + n(n+i)y,=, =0
n/2

3. If = jx"sinirdx, n>1, show that
2 oL

: n—1
 L+n(n=11,, _=n(§) :




(e )

Y
Hence evaluate I x5 sin x dx.
4. Reduce the equation
_3x2+2.13)+3y2—‘4\/it-4s/§y--—_'0 to its canonical
form and determine the nature of the conic.

5. Prove that the centre of sphms—,- whjch touches the
ghtlme yzbi%’z i yzﬂ-ngﬁz-*—-c lie on

the s m+c£(l~t-m3)=® S\
i Gmp T -~\ 1
_'ﬁéxzzls
6. (@ A ﬁmcuon ﬁ R ;ﬁwﬁi%,éon&non

x+y‘)\f{x)+_[@ for ‘all x,yeR,
prove that eithet” ‘f{-x)'— 0 or f (x)>0 for all
xeR. - ‘ 3

(b) Find the value of

hm( T +---+l).' 3

n=e\2n+1 2n+2 6n

RIO; -
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4)
(c) Obtain the equation to the generators of the
paraboloid % = bLz 2z through a point of the
principal parabolic section. ' 3

" 7. (a) Find the asymptotes of the curve

¥ =234+2xy-xpt +xp-y2+1=0. 3

() Showﬂlatﬂledlstanoebetwemﬂlepamllel lines
rcpresentﬁdby
KB

8. (a) Find the points of inflexion on the curve

(92 - l)r =aB?. 3

(b) Find the total length of the curve

e ST 23 '
x 4 ; '
2 +(b) 1 3




fiameter CD, conjugate to

IR Rt O
14 e

v .r’.gF;‘
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